
Le compte est bon 

 

 

 

 

 

19 
3, 10, 7, 4, 5, 25 

 
 
 
 
 

43 
9, 4, 5, 2, 10, 75 

 

47 
10, 9, 4, 7, 8, 25 

 
 
 
 
 

73 
2, 50, 3, 7, 100, 10 

 

37 
50, 7, 10, 2, 9, 3 

 
 
 
 
 
 

62 
10, 5, 6, 2, 4, 25 

 



Correction 

 

19 
3, 10, 7, 4, 5, 25 

 

3 x 10 = 30 

7 + 4 = 11 

30 - 11 = 19 

 
 
 

43 
9, 4, 5, 2, 10, 75 

 

9 x 4 = 36 

5 + 2 = 7 

36 + 7 = 43 

47 
10, 9, 4, 7, 8, 25 

 
10 + 9 = 19 

4 x 7 = 28 

19 + 28 = 47 

 

73 
2, 50, 3, 7, 100, 10 

 
2 + 50 = 52 

3 x 7 = 21 

52 + 21 = 73 

37 
50, 7, 10, 2, 9, 3 

 

50 + 7 = 57 

10 x 2 = 20 

57 - 20 = 37 

 
 

62 
10, 5, 6, 2, 4, 25 

 

10 x 5 = 50 

6 x 2 = 12 

50 + 12 = 62 


